e 1 P2l

1) (6x°—3x—4)+(5+8x2+2x—x°) +2(x—4x%—3)
=6x°—3x—4+5+8x%4+2x—x°+2x—8x2—6
=6—1)x*+(8—8)x°+(—34+24+2)x+(—44+5—6)
=5x3+x—5

(2) (7Tx*—4x—5)4+ x(3x+6—22%) —3x(2x*>— x+4)
=T7x%—4x—5+3x%+6x—2x° — 623+ 322 —12x
=(7—2—6)x*+(34+3)x’+(—4+6—12)x—5
=—x3+6x%—10x—5

[2] () @m+5(m—2)=2m>+(2-(=2)+5- Um+5-(—2)=2m*+m—10
(2) (6a—5b)6a+5b)=(6a)*—(5b)*=36a*—25b*
3) B3—2x4)14+x)=3+3x—2x—2x%=—-2x+x+3
4) (x—a+1)?={x—a)+1)°

=(x—a)’+2x—a)+1°
=x*—2ax+a*+2x—2a+1
5) (224 2x4+2)(x2—2x4+2)=(x242)2—(2x)? =(x"+ 442+ 4) —4x’ = 2"+ 4
6) (x+y—z2ix—y+tz)={x+(y—2)x—(y—2)}
=x"—(y—2)°
=2’ —(y*—2yz+27)
=x2— y’42yz—2°
@ (*+ D+ D+ Dx—D=(x"+Dx*+ 1)(x*—1) =(2*+ 1)(x*—1)
=x8—1
Q) (x—D(x+1)(x—2(x+2)=(x2—1)(x*—4) =x*—5x%+4
9 (x4+4)(x+2)(x—1)x—3)=(x+4)x—3)X(x+2)(x—1)
=(x%4+x—12)(x%+x—2)

=(x%4+2)?—14(x%4+x)+ 24
=423+ 4% —14x°— 1424+ 24
=x'4+2x%—13x%—14x+24
(1) 2ax*—8a=2a(x*—4)=2a(x+2)(x—2)
2) ax’+by*—ay’—bx’=

3) (x—4)(B3x+1)+10=3x*—11x—4+10
=3x2—11x+6
=(x—3)(3x—2)

4) 2n34+3nt+n=n2n?+3n+1)=nn+1)2n+1)



(1) 4x’—y*+2y—1=4x*—(y*=2y+1) =220’ = (y—1)*
={2x+(y—D{2x—(y—1)}
=@2x+y—1)2x—y+1)

2) (x®—x)?—8(x2—x)+12=(x2—x—2)(x*—x—6)

=(x+1)(x—2)(x+2)(x—3)

3) x*+ax’—x*—a=(x*—1)a+x*—x*
(x+1)(x—1a+ x4 x—1)
(x—D{(x+1D)a+ 2%
(x—=1)x*4+ax+a)

4) 6x°+T7xy+2y°+x—2=2y>+Txy+ (622 +x—2)

=292+ Txy+(22x—1)3x+2)
={y+2x—D}2y+(3x+2)}
=2x+y—1)3x+2y+2)

5) 3x%4+2xy—y*+T7x+3y+4=3x"4+2y+T7)x—(y*—=3y—4)
=3x24+2y+Tx—(y+1)(y—14)
={x+(y+D}83x—(y—4)}
=(x+y+1)3x—y+4)

6) (a+b+c)ab+bc+ca)—abc={a+(b+c){(b+c)a+bc}—abc

b+c)a’+abc+(b+c)(b+c)a+bc)—abe

b+c)fa®+(b+c)a+bc}
b+c)la+b)a+rc)

a+b)\b+c)c+a)

(
(
(
(

(x®=1)a+x*—2x2+1
(x+1)x—1a+(x—1)>
(

(

[5] A+B

2—D{(x+1Da+(x—1)}
r—1(a+D)x+a—1)
A, BEZNZEI alZoWTHEHET 5L
AB={—a+(x*=3x)}{x%a+(x+1)}
a D 1 ROEDLRE
—(x+ 1)+ (x2=3x)x2=x"-3x°—x—1
B 7)1 (1) 1 (v) 1 (=) 3 (+) 1



